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ﬁ Easter Addition and Subtraction =

Solve the following word problems. \ 4

Peter has 5 chocolate eggs. His friend gives him 2
more. Later, he eats 3 of them. How many
chocolate eggs does Peter have now?

Emma finds 4 Easter eggs during an egg hunt. She
finds 3 more in the garden, but then she gives 2 to
her brother. How many Easter eggs does Emma
have now?

Lucy has 7 jelly beans. Her friend gives her 2 more.
Later, she eats 5 of them. How many jelly beans
does Lucy have now?

Tom finds 6 Easter eggs during an egg hunt. He
finds 2 more under the couch, but then his dog eats
3 of them. How many Easter eggs does Tom have
now?

Sally has 8 chocolate bunnies. Her friend gives her
1 more. Later, she eats 6 of them. How many
chocolate bunnies does Sally have now?

Mike finds 5 Easter eggs during an egg hunt. He
finds 4 more in the park, but then he gives 3 to his
sister. How many Easter eggs does Mike have
now?

Lily has 6 jelly beans. Her friend gives her 3 more.
Later, she eats 4 of them. How many jelly beans
does Lily have now?
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